1°. Ismeretes, hogy

(1) a = _($1+£L’2+JJ3),
@) b= x172 + T2T3 + T37T1,
(3) C= —I1T2X3.
(1)-bél
o = —(z1 +x3) —a=—2x3 — a,
s igy
a
(4) :E2 = —g_
(2)-bél
xo(x1 + x3) + X321 = b,
s igy
a2 %,
3 3 a
vagy
(5) 243 4 27¢ — 9ab = 0,

Az egyenlet gyokei:

1 1
xlz—g—l-\/gaz—b, xzz—g, 263:—%— §a2—b.

2°. (3)-bol 3 = —c, s igy w2 = —V/e.
(1)-b6l és (2)-bol

T +x3 = —a— T,

xo(x1 + x3) + 2321 = b,

vagy
—wz(a+w2) + 23 =D,
—aro = b7
s igy
(6) adc = bd.

Az egyenlet gydkei:
! b
v =g (b—a? VO @ AP),  w=—,

1 2

T3 = %(b —a” —/(b—a?)? —4b?).
3°. )
a=— (.’L’g + 1'11'3) ,
T2
2
b= xXo - 123 + Tr3r1 = 3$1$37

T2
_ b
3

Eme egyenletekbdl
e
b 9¢’

vagy

(7) 9abc — 27¢% — 263 = 0.



Az egyenlet gyokei:

73c—ab+ 3c—ab\®> b 3
T 2 3 T T
- 73c—ab_ 3c—ab 2_9
T 2b 3
(Krampera, Gyula, Debreczen.)
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